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Read The Passge and choose the most appropriate option
Artificial intelligence, or Al, is a technology that allows machines to “think” and perform tasks

that normally require human intelligence. Many people already use Al in daily life, sometimes
without noticing it. For example, when you use a voice assistant on your phone to set an
alarm or ask for directions, you are using Al. Similarly, when streaming platforms suggest
movies or songs you might like, Al is working in the background.

While Al makes tasks easier, it can also raise some concerns. Some people worry that
machines may take away human jobs. For instance, if robots can do factory work more
quickly, companies may not need as many workers. On the other hand, Al can also create
new opportunities in areas like healthcare, education, and transportation. Doctors, for
example, use Al to study medical pictures and find illnesses more accurately.

Experts believe Al is not here to replace humans, but to support them. If used wisely, it can
save time, reduce mistakes, and improve lives. However, people must also learn how to use
it responsibly so that the benefits are greater than the risks.

What is Al mainly described as in the passage?

a) A type of robot only used in factories.

b) A technology that allows machines to act intelligently.

¢) A computer used only by doctors.

d) A machine that replaces humans completely.

Which everyday examples of Al are mentioned in the passage?
a) Voice assistants and streaming recommendations.

b) Robot vacuum cleaners and self-driving cars.

¢) Social media feed and face recognition.

d) Smart thermostats and email spam filters.

What is one concern people have about Al?

a) It makes cities louder.

b) It can take human jobs.

¢) It increases reading habits.

d) It grows food faster.

What positive role can Al play in healthcare according to the passage?
a) Designing new medicines.

b) Making hospitals quieter.

c) Helping doctors identify diseases more accurately.

d) Replacing nurses completely.

What can be inferred about the future of Al from the passage?
a) Al will control all human decisions

b) Al will disappear soon.

c) Al has both risks and benefits dépe'nding on how it is used.
d) Al will only be used by students.
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Which type of bill cannot be returned by the President for reconsideration after being
passed by Parliament?

HUE 6lRLUAMR &l ugl epuld sl Ysizell QaLs Yol 12 uzd el
Ascll olefl?

A) Appropriation Bill --ue]Hl € el (Glct

B) Ordinary bill -4l Mol (Rt

C) Constitutional Amendment Bill-6{ti2elal YL @Qet

D) Money Bill -- sl

Which Commission was set up to review Centre-State relations in India?

ClReloll Bos-Aet oltllofl et s2cll 12 56 wololl 2246l s2cul 2l 5cll?

Options:
A) Sarkaria Commission-—42 $L321L" 2]

B) Punchhi Commission --lja-lﬂ_ w0l
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C) Mandal Commission---HSEL 202t

D) Kelkar Commission---5G52 32001

What does the Preamble of the Indian Constitution signify?
el citRglell Yrelldlell 9 ealld &2

A) Division of powers between centre and states-- $o% Wol A% L), %{ﬂwnqi
(Qeitesst '

B) Powers of the President—-21%2U(do{l ¥riizdl

C) The goals and aspirations of the people of India--GUR cloll’ %otcilall gl wal
vLsiatdl

D) Guidelines for foreign policy--[aéal oll[d H2etl Hiolesisl

How many categories of Fundamental Rights are outlined in the Indian Constitution?

etrclal olenRl Hueycd wESRA d2cll ARl ealclauui uicll B2
A) Five---u(

B) Six-—-&9

C) Seven---Alcl

D) Eight-—-0{l6

Unlike Fundamental Rights, why are Directive Principles of State Policy not enforceable by
courts?

A%2Usll oAt REs Rgicll, Yooy UL QU a2l @2l ol 12

o] 831 sl otefl?

A) They are guidelines, not legally binding---

A Hleels ol B, stojell 9 outaistdl otell
B) They are outdated principles—d %ol Rgidl ®

C) They apply only to states, not the Union—
A 5 A2 A U3 B, Josd otdl

D) They require parliamentary approval---a el 13[“(151 %3ﬂ 8

Who administers the oath of office to the President of India?
llRetell A UAA UE 28Rl sclloll AU AL UW B?

A) Vice President--- GU 1 u(d

B) Prime Minister--- Sl Ytllol

C) Chief Justice of India--- GURctoll Yual o2A21t]3l
D) Speaker of Lok Sabha--Glls¥ellell wLt2lel

What is the minimum time period required for public notice before introducing a
Constitutional Amendment Bill in Parliament?

el cluuRela yYuRl Qs 2% scll UBE 132 ARYU M2 o2jotctit AHANA
S2cll 8l ASA?
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A) One week — W Uscll(32
B) Two weeks --- 6l asclS2u
C) One month - W§ M@l

D) No notice required - 8l&5 al@U{l %32 otall
How is the Vice President of India elected?

GReell GuRARUL(l el 3cll A s B2

A) By the Lok Sabha only--$5ct GllSUGH GL3L

B) By an electoral college of both the Houses of Parliament--{AEall ial OLéldl lj\alac'll
yellotl el Hsa gzt

C) By the Rajya Sabha only--—-$5cl %211 gl3L

D) By the President-—-20%2U(Q gL
Who among has the power to commute the death sentence of a convict in a State?

A% AR cusRell Heyésoll wmal detsclioll At oll WA B2

‘A) Ministry of Law and Justice-—-Sl2LEL W\ oAl HALERY

B) The Chief Minister——3u13{=(]
C) The Governor---1%2L UG
D) The Chief Justice---4u21 o21l2u {9l

Which constitutional body is responsible for auditing government expenditure?
AlRclell 56 ARQURS el Us12ell WAl UslAL s2al gy YAl B2

A) Comptroller and Auditor General of India (CAG)-—- MlRcloll QUL A AWRe2? %olRE
(CAG)

B) Finance Commission-—-OﬂQllﬂﬂ 5@21@

C) Union Public Service Commission---?g[a.aici s Al sRatet

D) Election Commission of India-—j2@{lt20ot

Which organization became the first Indian NGO to win the 2025 Magsaysay Award?
20250l ARAA Y512 Yetoll2 YU a2l @ot-22513 2zel (NGO) 58 &?

A) Pratham -- YaH

B) Educate Girls -~ A%gJ}2 el

C) Smile Foundation - RHEE $1God 9ol
D) Teach For India-- 3l SR SRl

Who has been appointed as the IMF Executive Director for a three-year term starting
August 28, 20257

28 2012, 2025 A3 Ul AR ardoll sLASA B IMFoll UsBsyRet Brser tdly

8 (35t scumi wicay B2
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A) Arvind Subramanian --- WR(dg HoHRIH
B) Raghuram Rajan - 2¢RIM Aol
C) Shaktikanta Das - 25l €1

D) Urjit Patel - Gl¥d uzet

What is the name of India’s first fully indigenous 32-bit microprocessor developed for space
missions?
Aalslel Mot HE [QsatacuHi WA et Yux Hyal el 32-0fl2

HISSAURS] ollH 9 &7

A) Bharat-Chip X - ¢l d-RuU X

B) Shakti-2100 --- 2(51-2100

C) Vikram-3201 - (A$H-3201

D) Aryabhata-2001 --- 2l®lg-2001

Who is the owner of Google?
opletell Hilds s B?

A) Sundar Pichhai - €2 Qe
B) Alphabet Inc --- AEHLAR S0
C) Elon Musk - W Alet. 1z

D) Mark Zuckerberg -~ M5 93820401
Who devéloped and manages the Unified Payments Interface (UPI) in India?
ARl YRs8s ANeed BozBU (UPY) 5, [Asicy] uA auctol 53 B2

A) National Payments Corporation of india --- a2lelc{ URe2 SR 35 S
B) Reserve Bank of India -— Ro3cl dls g SE32u

C) State Bank of India - 322 &5 Als Sl

D) Phone Pe - §lot U

Who has been elected as the 15th Vice President of India?
ARl 155 QU U 3 A zam sy 7

A) Jagdeep Dhankhar - %9ElU iUl
B) Justice Sudershan Reddy - o2italltllat ofl. Ye oot 24
C) Venkaiah Naidu — 32l oll2s

D) CP Radhakrishnan - (L. UL, 2Atugwlel

In which city was the SCO meeting held?
sco HlEaL s wdmi AuteS scll

A) Tianjin - [Qalel([F et
B) Beijing - A1

Q) Shanghéi — gl
D) Astana - ¥cllell
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What was the name of the mission that carried Shubhanshu Shukla to the international
Space.Station in 20257

2025H1 Yoy Ysellal wicRRFA wdRet Has (1) Yell ces 2 Al Matoto] ottn
9 &q? |

A) Gaganyaan --- Ol2lel2llet

B) Chandrayaan-3 - {s2lle1-3

C) Axiom Mission 4 - V(ER2AM Ralet ¥

D) Artemis | — WS |

What is the full form of MOM in the context of India's space program?
ClRcloll uUaslel sllsuell AeelHl MoM of Y a3y g 82

A) Martian Orbital Mission -— HU(22tet w(zet Ratet
B) Mars Observation Mission —— H13l w0eoscalel Rotet
C) Moon Orbiter Mission - Yot 322 MLt

D) Mars Orbiter Mission - HI2l 20(cl2? Ralot

What was the name of the mission launched to rescue Indians from Ukraine during the
2022 crisis?

2022 oll ¥s2 e[ Yyotuiell edlaA ctaudal WE 243 sAde Meloto] ottt 9
&q?

A) Operation Vande Bharat --- 30UR2lol ci?

B) Operation Maitri - U 2lel 1]

C) Operation Ganga -— U2 9lel 2(9(

D) Operation Devi Shakti --- 3QU23lei & [l 2((5el
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variable oxidation states?

a) Participation of 5f, 6d, and 7s
electrons

b) Only 7s electrons

¢) Only 6d electrons

d) Only 5f electrons

The color of actinide ions is mainly
because of

a) Electronic Charge transfer

b) f-f electronic transitions

¢) s—p transitions

d) Crystal defects

When Actinide undergoes contraction,
a result is in?

a) Increase in atomic size

b) Constant atomic radius

¢) Decrease in atomic and ionic size
across the series
d) Irregular atomic volume

Which of the following material is
commonly used as moderator in
nuclear reactors?

a) Sodium metal

b) CO:

c¢) Helium

d) Heavy water (D20)
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When the comparisons of an actinides |

and lanthanide is carried out, an
actinides shows

a) Fewer oxidation states

b) More variable oxidation states
¢) No oxidation states

d) Only +3 oxidation state

Which of the following chemlcals are
used to prepare Nitrobenzene from
Benzene?

a) Conc. HNOs + H250s

b) NaNO: + HCl
c) HNO:s alone
d) NHs + Oz

What are the
compounds?

uses of Nitro

a) Solvents only

b) Sweeteners

¢) Fuels & explosives

d) Fertilizers

Which of the following statement is
true for nitrogen atom in amines?

a) sp? hybridized with no lone pair

b) Purely ionic

¢) sp? hybridized with lone pair

d) sp* hybridized with lone pair

What is the conversion of Hoffmann
bromamide reaction?
a) R-NO: — R-NH:

b) R-CONHz — R-NH:

¢) R-OH — R-NH:

d) Ar-NOz — Ar-NH

What is the use of Hinsberg’s test?

a) Distinguish 1°, 2°, 3° alcohols
b) Distinguish 1°, 2°, 3° alkanes

¢) Distinguish 1°, 2°, 3° amines

d) Distinguish cis & Trans alkenes
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2{) R-NOz - R-NH;

o) R-CONH; - R-NH

$) R-OH — R-NH;

$) Ar-NOz —» Ar-NH;

ool s\ (Hinsberg Test) oll
GuA1ge?

a) 1°,2°, 3° BUCAJAA dgldd sllticll

b) 1°, 2°, 3° BlicHetall dgladd alltacll

¢) 1°, 2°, 3° AHBotoll ciglold allticll

d) cis 2R Trans AGotell dgicld slltlell
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Which of the following products is
obtained, When an acylation reaction
of amines is carried out with acid

chlorides?
a) Esters

b) Alcohols
c¢) Aldehydes
d) Amides

At which position aromatic amines
undergo electrophilic aromatic
substitution reaction?

a) On ortho & para positions
b) On meta position

¢) on benzyl carbon

d) None of the given

For the preparation of Diazonium
salts, which of the following statement
is true?

a) Reaction of primary aromatic
amines with NaNO: + HCI (0-5 °C)

b) Reaction of secondary amines with
HNOs
¢) Reduction of nitrobenzene reaction

d) Hoffmann bromamide reaction

In Gattermann reaction replaces
diazonium group
with -

a) OH group

b) Cl or Br group using Cu powder +
HCI/HBr

¢) NO: group
d) COOH group

The industrial importance of
diazonium salts is mainly in
manufacturing of

a) Explosives
b) Fertilizers
¢) Dyes and pigments
d) Detergents
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§) 200 el QN2
5) (32

Page 3 0f 23



46

47

48

49

50

Who is the father of modern forensic
science?

a) Francis Galton

b) Alphonse Bertillon

¢) Edmond Locard

d) Hans Gross

In which city of the India, the first
police crime laboratory was set up in?
a) Delhi

b) Kolkata

¢) Hyderabad

d) Agra

Which of the following deals with
identification through skeletal
remains?

a) Forensic Anthropology

b) Forensic Odontology
c) Forensic Ballistics

d) Forensic Physics

From where Crime scene investigation
starts? - '
a) Collection of evidence

b) Court presentation

c) Arrest of suspect

d) Securing the scene

On which bases the reconstruction of
crime events is carried out?

a) Witness accounts only

b) Police records

¢) Scientific principles applied to
evidence
d) Assumptions
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Which evidence is considered most
reliable in courts?

a) Eyewitness testimony

b) Scientific forensic evidence

¢) Police statements

d) Suspect confessions

Which of the following is associated
with Cyber forensics?

a) Crimes using digital devices

b) Explosives

c) Poisons

d) Firearms

Which technique is not used in
forensic  chemistry to analyze
explosives?

a) Gas Chromatography

b) Mass Spectrometry

c¢) Thin Layer Chromatography

d) Thermo gravimetric analysis
Which of the following is related with
the term “ballistics™ in forensics?

a) Blood group analysis

b) Explosives only

c¢) Bullet and firearm study

d) DNA fingerprinting

Which among these is a class
characteristic of a weapon?
a) Number of lands and grooves

b) Unique scratch marks

¢) Individual wear and tear

d) Fingerprint on trigger

Principle of analysis of stresses that
results mustbe

a) Personal opinion

b) Subjective

¢) Based on reproducible scientific
methods

d) Doubtful
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The “Golden Hour” in forensic
science refers to

a) Time before court trial

b) Early stage of investigation when
evidence is best preserved

¢) Morning time for crime scene visit
d) Duration of autopsy

Principle of Locard is important
becauseof

a) Witnesses are unreliable

b) Crimes cannot be solved without it
¢) Police rely on it

d) Criminals always leave and take
evidence

Importance of forensic toxicology
relatedto

a) Detects poisoning

b) Identifies drug abuse

¢) Assists autopsy findings
d) All of given

Which of the following statement is
true for forensic reports?

a) Reports must be Scientific,
accurate, and unbiased

b) Reports must be Favorable to
prosecution

¢) Reports must be Favorable to
defense

d) Reports must be Speculative

Who is the father
biochemistry?
a) Antoine Lavoisier

b) Watson and Crick
c) Justus von Liebig

of modem

d) Louis Pasteur
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66

Structural
focuses on

biochemistry  primarily

a) Anatomy of humans
b) 3D arrangement of biomolecules

c) Ecology of microbes

d) Agricultural yield

In which field of Agricultural
biochemistry helps?

a) Crop improvement and fertilizer
development

b) Astronomy research
c) Weather prediction
d) Physics experiments

Which of the following is an
important of  biochemistry in
medicine?

a) Studying stars

b) Rocket science

¢) Understanding disease mechanisms
d) Building materials

Why PubMed is a popular source?

a) Because it can be usefor Historical
documents

b) Because it can be use for Physics
equations

c) Because it can be use for
Engineering data

d) Because it can be use for
Biochemical research literature

The property of interconversion
between o- and B-forms of glucose in
solution is called

a) Tautomerism
b) Mutarotation
c¢) Polymerization
d) Hydrolysis
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Which of the following functional
group can be reduced by Tollen’s
reagent in Glucose?

a) A keto group

b) A free aldehyde group

¢) A free ketone and aldehyde both

d) No functional group

Which of the following disaccharide
is non-reducing?

a) Maltose

b) Lactose

¢) Sucrose

d) Cellobiose

Which of the following two
components are present in the starch?
a) Amylose and Amylopectin

b) Cellulose and Hemicellulose

¢) Chitin and Amylose

d) Amylopectin and Chitin

Which of the following test is used to
detect reducing sugars?

a) Biuret test

b) Iodine test

¢) Molisch test

d) Benedict’s test

Which of the following property of
metals to be beaten into thin sheets?

a) Ductility

b) Malleability

c) Tensile strength

d) Hardness

What is the importance of alloying
metals?

a) To increase strength and corrosion
resistance
b) To make metals more brittle

¢) To decrease conductivity always

d) To increase density only
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Which of the following metals are
used in manufacturing of Nichrome?
a) Ni, Al, Fe

b) Ni, Zn, Cu

¢) Ni, Pb, Sn

d) Ni, Cr, Fe

Which of the following brown flaky
substance formed during corrosion of
iron?

a) Fe(OH),

b) FesOq
C) Fe20s-xH20
d) FeCls

Which of the following material is
commonly used as a corrosion
inhibitor in  cooling  systems?

a) Chromates and phosphates
b) Alcohols

¢) Paraffin wax

d) Sugars

Which of the following type of
cement is commonly wused in
construction?
a) Slag cement

b) Portland cement
¢) Pozzolanic cement
d) High alumina cement

Why Gypsum is added in to the
cement?

a) Because it can increase strength
b) Because it can reduce density

¢) Because it can provide color

d) Because it can control setting time
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The temperature in the clinkering
zone of a rotary kiln is
about CCh

a) 800-900 °C
b) 1000-1200 °C

¢) 14001500 °C

d) 1600-1800 °C

Which of the following reaction can
causes the setting of cement?

a) Hydration of silicates and
aluminates
b) Dehydration of gypsum

¢) Evaporation of water

d) Oxidation of calcium

Which of the following is the main
advantage of RCC over PCC?

a) Less cost

b) Higher tensile and compressive
strength
¢) No need of curing

d) Easy to dismantle

Which type of polymers softens on
heating and can be remolded?

a) Thermosetting

b) Cross Linked Elastomers
¢) Elastomers

d) Thermoplastic

Which of the following initiator used
in free radical polymerization of
ethylene?
a) H2S04

b) NaOH

¢) Benzoyl peroxide

d) HCl

Which of the following is added
during Vulcanization of rubber?

a) Sulphur

b) Carbon

¢) Oxygen

d) Nitrogen

9¢

9¢

¢O

Al

¢

€3

Aedl oglett GAsBEol  MetHl  dtUHLel

EALeL R

) 800—900 °C

ol) 1000-1200 °C

§) 1400-1500 °C

$) 1600-1800 °C

Adontisl 58 uBa AReceetl AR
s120L otoll 2} 82

) A2 wUA AP al8} 2ot

o) Wwiie] Qedellsel

5) welle] orwfletcist

5) ¥EAAue] WEA3 At

W00 (PCC) Rl AR (RCC)N v
1€ ol Aotaiiell s 87

) A B

of) cyy cigl A AR A6

5) sAlRolell 32 o2l

5) wrocell AL asid B

sl ystell WAHR 2RH Yl UR kA ud
B wA Aa sdlell oettcll asA B2

) wl AR

o) Sl @ss seuRlH

8) selRAHRL

s) adlveules

sERetatl  Ysyas WRHRBIALL
A Aotuidll 528 sRRAR curA B2

) H,50,4

) NaOH

5) Qoddlauct AASUES

) HCl

aoi20ll Ao Daot £Mallot ol Aettuiell
53] GRRCML wd B?

) UEHR

o) stolet

5) AEA°el

S) lle %t

Page 10 of 23



84

85

86

87

88

89

Which of the following materials are
used in manufacturing of Bakelite?

a) Urea + Formaldehyde

b) Phenol + Formaldehyde

¢) Terephthalic acid + Ethylene glycol
d) Caprolactam

Which of the following is a non-
biodegradable polymer?

a) Starch

b) Cellulose

¢) Polyethylene

d) Proteins

Which type of error occurs if a
balance is not calibrated?

a) Gross error

b) Personal error

¢) Random error

d) Systematic error

Why Taring in a balance is carried
out?

a) Because of weighing with container
weight

b) Because of setting weight to zero
before sample measurement

¢) Because of adding extra weight

d) Because of recording average value
What is the main purpose of quality
control (QC) in pharmaceuticals?

a) Product design

b) Drug pricing

¢) Regulatory approval

d) Testing and inspection

Which of the following is related to
ISO 9001 standards?

a) Production safety

b) Marketing systems
¢) Quality management systems
d) Cost analysis
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Which of the following is true for
Validation ensures?

a) Accuracy and reliability ofa
method
b) Cost effectiveness

c) Faster analysis

d) Better yield

Which of the following is true for
LOD (Limit of Detection) measures?
a) Smallest detectable quantity

b) Highest measurable concentration
¢) Median concentration

d) Average sample size

Which of the following refers to
Robustness?

a) Reproducibility across laboratories
b) Accuracy in low concentration

¢) Ability to remain unaffected by
small variations in conditions

d) Repeat trials with same analyst
Which of the following is used to
check the purity of the solvent?

a) Hardness

b) pH value

¢) Color test

d) Refractive index

What is the main use of Volumetric
flasks?

a) Storing chemicals

b) Measuring accurate fixed volume
¢) Heating liquids

d) Filtering solutions

Which of the following is preferred

cuvette material, for very low
absorbance measurement?

a) Plastic

b) Glass

¢) Quartz

d) Aluminum
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Which of the following error occurs
due to faulty apparatus?

a) Systematic error

b) Random error

¢) Gross error

d) Personal error

Which of the following is sample
representing the whole population?

a) True sample

b) Representative sample

¢) Random sample

d) Homogeneous sample

Which of the following can minimize
Random error?

a) Using high concentration

b) Ignoring outliers

c) Reducing cost

d) Repeated trials and averaging
Which of the following equation is
expressed as Molality?

a) moles solute/kg solvent

b) moles solute/L solution

¢) grams solute/L solution

d) moles solute/mL solution

Which of the following is used to
remove moisture from glassware
before weighing? They are kept in

a) Refrigerator
b) Oven

¢) Incubator
d)Desiccator

Which of the following calculation
done by The Henderson—Hasselbalch
equation?

a) Ionic strength

b) Buffer Ph
¢) Titration error
d) Indicator range

cd

14

100

01

wiHlayse Guswal sRQL ol Asunisll ¢
Qe W &7

) CaLC{@de\C't (Systematic error)

o) Ag[D5GE (Random error)

8) HIG{CL (Gross error)

S) Glf&?Dld@iCi (Personal error)

(Astiuiell 53 Axap wetd/Rsale] wy
WARRe 52 otyyall B?

) ALY ot3yell

o) UARM® 3ol

5) AERDs otiyall

) UHYAUAG (AHUot) otifsll

o Aeunisllsjaug@seiet (Random error)
VENETTRY

) QA AGAAA GuDoL 524

) URALAHERL (outliers) AcldlRLlL

s)w uatsal

5) Yetialdd udlaied 2 w22ue siadl
lAottuiell sau wlswA DA a3
galletcuni 2ud &2

) aletoll MG/ (BAlUH alas

o) steatell et / clleratcel

8) steloll W clzrsteat

s) slcatatt et Hcl@eataet

SIAAL cUUBle] ool 5l udel auisl
A% £2 scll W2 o(lQotmiell seuel (el
GualloL ata B?

) (or (Refrigerator)

ol) Bl clol (Oven)

§) 8eisyA2R (Incubator)

s) 3R3e? (Desiccator)

805Ul -FUCUIEY s glRL
ol Aottuiell 58 o1QLAdl sl w1 D?

) 252G (onic strength)

) 61$29jpH (Buffer pH)

§) 28R 2AAGC (Titration error)

5) 83323 (Indicator range)

Page 13 0of 23



102

103

104

105

106

Which titration involves the use of
starch as indicator?

a) Cerimetry

b) Complexometry

¢) lodometry

d) Mercurimetry

Which type of estimation is cartied
out by Karl Fischer titration?

a) Amines

b) Nitrates

c) Water content

d) Peroxides

Which elementary estimation is
carried out by Kjeldahl method?

a) Sulfur

b) Nitrogen

c) Phosphorus

d) Oxygen

Who was proposed the Law of Mass
Action?

a) Guldberg and Waage
b) Ostwald and Nernst
¢) Arrhenius

d) Van’t Hoff

Which of the following is true for
Solubility product (Ksp) is definition?

a) Product of molar concentrations of
reactants

b) Product of coefficients

¢) Product of ionic charges

d) Product of molar concentrations of
ions raised to their stoichiometric
powers
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Which  process  reduces  co-

precipitation?

a) Rapid precipitation

b) Digestion of precipitate

¢) Use of cold solution

d) Addition of excess precipitant

Which of the following is ensured in
gravimetry during drying or ignition
of precipitate?

a) Removal of impurities and water
b) Increase in solubility

c) Faster weighing

d) Complete crystallization

Which of the following is a desirable
property of a precipitate for
gravimetric analysis?

a) Colloidal form
b) Very soluble in water

¢) Basily filterable crystalline form |

d) Hygroscopic

Which of the following is the main
limitation of gravimetric analysis?

a) High cost of reagents

b) Cannot be applied in pharmacy

¢) Requires special instrumentation

d) Need for very pure reagents and
careful work

Which of the following are the
products of homolytic fission of an
organic compound?

a) Free radicals

b) Carbocations and carbanions

¢) Neutral atoms
d) Carbenes
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112 Which of the following is an example | 212 olQeunisll 59 RYEAANsIBCL] GELEQL B?

of a nucleophile?
a) BFs u) BFs
b) AlCls ol) AICk
¢) H:0 5) H:0
d) NOz* 5) NOz*

113 Which of the following is the correct a3 s, YABasi yGauelacdel s1 ol Aol
order of reactivity in an Sn! reaction? uiell s w2 B?

a) 1°>2°>3° A) 1°>2°>3°
b)3°>2°> 1° o) 3°>2°>1°
¢) CHs>1°>2°>3° §)"CHy>1°>2°>3°
d) All are equal ) ol YMlet B

114  Which type of stereochemistry is 1y S2 uRBand sat usie] RRAVFFRL
observed in an SN2 reaction? Flal 1A B2
a) Racemization ) YRHLBDeLeL
b) Retention o) 32oatol
¢) Mixture 5) @Bl
d) Inversion 5) ©JsH (Inversion)

115  Which of the following catalysts is not | 13y #3@-5153 A otet yBawi «Aet
used in the Friedel-Crafts acylation uisll 52U Gesel Gualot &l atell?
reaction?

a) H2S04 ) H,S0,
b) FeCls o) FeCls
¢) AlCLs 5) AICl;
d) BFs s)BFs

116  Which of the following is the correct Qs ol Aotiniell pUBANeote] ALY IUPAC olli
IUPAC name of isopentane? 52 D7
a) 2,2-Dimethylpropane ) 2,2-staPausetdliot
b) 3-Methylbutane ol) 3-Rlaseoyeet
c¢) Pentane ) Uetol
d) 2-Methylbutane s) 2-Rauseoyest

117  Which of the following materials is 909 808 Yl ol Rotniell sa ueLdell
used in the Wurtz reaction? GualloL Ul ®?

a) Zn ¥) Zn ,

b) Na metal in dry ether o) 2rs SUML Na tld
¢) KOH $) KOH

d) H:SO4 5) Hz50,
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122

Which type of isomerism occurs in
alkanes mainly due to structural
variation?

a) Position isomerism

b) Functional isomerism
¢) Chain isomerism
d) Tautomerism

Which of the following is an example
of a natural alkane?
a) Ethylene

b) Acetylene
¢) Methane
d) Benzene

Which is the major product formed
during the monochlorination reaction

of methane?
a) CHsCl

b) CHCL
¢) CHCls
d) CCla

Which of the following rule is applied
when HBr is added to asymmetrically
substituted alkenes in the presence of
peroxide?

a) Markovnikov’s rule

b) Anti-Markovnikov’s rule
¢) Hofmann’s rule

d) Resonance

Which of the following chemical is
used in Baeyer’s test for unsaturation?

a) Bromine water

b) H2S0.

¢) Os gas

d) Cold alkaline KMnQs solution
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Which of the following compounds
are obtained when alkenes undergo
reaction with ozone gas?

a) Ketones and aldehydes
b) Alcohols

¢) Acids

d) Esters

Which of the following compounds
are mainly obtained when alkenes
undergo hydroboration—oxidation |

reaction?
a) Aldehydes

b) Ketons
c) Esters
d) Alcohols

How many o bond and = bond present
in ethene molecules?

a) One o bond and one © bond

b) Five o bond and one © bond
¢) Two m bonds only
d) Four ¢ bond and one & bond

What are the products formed when
alkynes  undergo  hydrogenation
reaction with Hz gas in the presence of
Lindlar’s catalyst?

a) Alkanes

b) trans-Alkenes
c) cis-Alkenes
d) Alcohols

Which of the following compounds
are obtained when alkynes undergo
reaction with ozone gas?

a) Ketones

b) Carboxylic acids
c) Alcohols
d) Alkanes
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129
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Which of the following is the correct
IUPAC name of CH3—C=CH?

a) Propyne

b) Propene

c) Propane

d) Ethyne

Why do alkynes exhibit acidic nature?
a) Presence of 7 bonds

b) High bond strength

c¢) High
hybridized carbon

d) Resonance

Which of the following products is
formed when ethyne reacts with HC1?
a) DiChloroethene

b) Dichloroethane

c¢) Chloroethane

d) Vinyl chloride

Which of the following laws of
thermodynamics states that if system
A is in thermal equilibrium with
system B, and system B is in thermal
equilibrium with system C, then
system A is also in thermal
equilibrium with system C?

a) First law of Thermodynamics

b) Zeroth law of Thermodynamics
c¢) Second law of Thermodynamics
d) Third law of Thermodynamics

An internal
_function.

a) Path function
b) Work function
¢) State function
d) Not defined

energy is a

electronegativity of Sp-'

¢

¢
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134
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Which of the following statement is
true for 2™ law of thermodynamics?

a) Heat flows spontaneously from hot
to cold

b) Heat flows spontaneously from
cold to hot

¢) Work is equal to heat

d) Internal energy is conserved

Which of the following statement is
true, for change in entropy for an
isolated system undergoing a
spontaneous process?

a) AS<0

b) AS=0

¢) AS is constant

d)AS>0

Which of the following equation is
represents the mathematical form of
Kirchhoff’s equation? I
a) d(AH)/dT = ACp ‘
b) d(AH)/dP = AV

c) d(AS)/dT = ACp/T

d) d(AU)/dV = TAS

Which of the following statement is
true for Qualitative analysis?

a) Measurement of concentration

b) Detection of elements or functional
groups
c¢) Measuring physical properties

d) Chromatography only

What is the application of
Crystallization operation?

a) Identification of substance
b) Separation of liquids

¢) Purification of solids

d) Measuring density
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Which of the following functional
group can be detected by brown ring
test?

a) Sulphate group
b) Carbonate group
¢) Chloride group
d) Nitrate group

Which type of study can be carried
out by Conductivity Measurement
experiments?

a) Titrations of acids and bases

b) Turbidity
¢) Melting point
d) Crystallization

In UV-Visible spectroscopy,
absorption occurs is because of......

a) Rotation of molecules

b) Vibration of molecules

¢) Electronic transitions

d) Ionization

Who was discovered the Neutrons?
a) J.J. Thomson

b) Rutherford

¢) Niels Bohr

d) James Chadwick

Which of the following mathematical
form is true for Energy of radiation?
a) E =mc?

b) E=hv

¢) E=hv/A

d) E=hiv

Orbitals are differing from orbits.

a) Because it represents Fixed paths
b) Because it represents the nucleus

¢) Because it represents Circular
motion of electron

d) Because it represents Regions of
high probability for finding electrons
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Which of the following rule or
formula is used to calculate Maximum
number of electrons in a shell?

a) n?
b) 4n?
c) 2n?
d) n®

Which of the following statement
represents the Pauli’s Principle?

a) Two electrons in an atom cannot
have the same set of four quantum

numbers

b) Electrons occupy lowest energy

orbitals first

¢) Orbitals fill singly before pairing

d) Electrons revolve in circular paths

Which of the following is true for the
modern periodic table based on the
arrangement of elements?
a) Increasing atomic mass

b) Increasing atomic number
¢) Decreasing atomic radius
d) Alphabetical order

Which of the following block
elements are also known as transition
elements?

a) s-block elements

b) p-block elements
¢) d-block elements
d) f-block elements

Atomic radius across a period from
left to right is

a) Increases

b) Decreases

¢) Remains constant

d) First increases then decreases
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The wvalue of electron affinity for
noble gases is

a) Zero

b) Very high
¢) Negative
d) Infinite

Which of the following is the most
electronegative element?
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